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BASANT VALLEY PUBLIC SCHOOL
‘ =2\ PLOT NO -119, SEC - 46, GURGAON
NN 7 REVISION WORKSHEET - 2017-18

SUBJECT - SCIENCE

CLASS - 5™

Q.1. Tick the correct answer -

1) A tadepole breathes through its

a) lungs b) skin c) gills d) fin
2) Animals on land have types of limbs -

a) 2 b) 3 c) 4 d) 6
3) The bones of a bird are & hollow.

a) heavy b) light c) gills d) fins

4) The egg shaped part in the brain is -

a) cerebellum  b) medulla c) cerebrum d) skull
5) Which one is not the layer of the earth?

a) Crust b) mantle C) core d) humus
Q.2. Give one word for the following -

a) Metal used to make wires

b) Rocks used in kitchen counters

¢) Rocks formed by solidification of clay & mud

d) Muscles of a heart

e) The cord that connects the brain to the nerves

Q.3. Match the following -

(A) (B)
Skeletal system forms frame work of body
Voluntary muscles tentacles
Rickets muscles that are under control
Cockroach legs

Octopus Deficiency of Vitamin D



Q.4. Draw & label the following diagram -
1) Human brain
2) Layer of soil

Q.5. Define the following -
a) Metamorphic rock

b) Igneous rocks

C) Soil erosion




d)

e)

f)

Q.6.

a)

AnS.

b)

AnS.

Ans.

Reflex action

Bone marrow

Trachea

Answer the following question -
How do whales & dolphins breathe?

How do injects breather?

Differentiate between movable & Immovable joint.




d) What are the different kinds of muscles & what are their functions?

Ans.

e) How is coal formed? Mention the three uses of coal?

ADnS.

f) How is petroleum used in gaseous from? Mention any 4 uses of petroleum.

AnS.




BASANT VALLEY PUBLIC SCHOOL
Zo PLOT NO -119, SEC - 46, GURGAON
\® '/ REVISION WORKSHEET - 2017-18
SUBJECT - English
CLASS -5™
Section - A, Reading
Q.1. Read the following passage and write the answer of the questions that follow.

Goa

Goa is on the west coast of India. Panaji, the capital of Goa, is situated on the left bank of Mondovi
river. Margo is the city which is linked by rail to the rest of India. The other city worth visiting is Vaso-
de-Gama. Goa has some of the most beautiful beaches in the world. Among the famous ones are
Calangute and Colva.

Goans, as the people of Goa are known, they love music and dance. They follow different religions and
as a result, Goa has many churches, temples and mosques. These places of worship are famous all over
the world for their beauty.

A)  On the basis of your reading of the above passage; complete the following sentences,
briefly.

1) Mondovi is the name of a

2) is the city which is linked by rail to the rest of India

3) The people who live in Goa are called

4) The places of worship that are found in Goa are, churches,

Section - B, Grammar

Q.2. A) Change the following sentences using apostrophes (’s).

1) Those books, lying on the table belong to Asha.

2) The big house belongs to Renu.

B) Underline the adjectives and state their kinds.

1) Many cities don’t have proper water facilities.

2) I have twelve big books in my shelf.

C)  Fill in the blanks with appropriate adjectives of comparisons.

1) We think Renu is the (beautiful) girl but Teena is (beautiful) than her.

2) This is the (tall) building in the city.



D)  Fillin the blanks with articles.
| saw elephant near a building elephant was alone not with the herd.
man tried to drive away elephant. But it started swimming toward
man.

Q.3. Read the following conversation between Meghna and Hemant. Then Hemant writes the
message for Ishani, is not more than 40 words.

Meghna -  Hemant why didn’t Ishani come to school today?
Hemant -  She is unwell since last night.
Meghna -  There is an important message for her. Tell her that for, Independence Day celebration

we do not have to go to school. We must reach Manik Show Auditorium at 4pm sharp.
Hemant-  Alright

Meghna - Thank You

Q.4. Complete the following conversation
Komal - Hi Sheela!
Sheela- Hi! How are you?

Komal - I , thank you ?




Sheela - I am

Komal - Why were

Sheela - | was not

Komal - Oh! What

Sheela - | had

Komal - Did you consult

Sheela - , 1 did.
Komal - see

Q.5. Word meaning -
a) abandoned

b) disheartened

Section - D, Literature

, yesterday?
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. SUBJECT - SST
CLASS -5™
Q.1. Fill in the blanks -
1) When there is enough moisture in air, the weather is
2) The main items of export of Congo are
3) Greenland is situated in
4) Crickets communication with each other by
Q.2. Match the following -
1) Zaire a) Very cold climate
2) Prairies b) Hot and dry climate
3) Saudi Arabia ¢) Hot and Wet Climate
4) Greenland d) Extreme type of climate
Q.3. Why is the continent of Antarctica always covered with snow?
Ans.
2) What type of climate does Congo have?
Ans.
3) How much land is available for forming in Greenland?
Ans.
4) What is communication?
Ans.
5) What is the mode of transportation in Greenland?
Ans.

6)

What is humidity?



ANS.

7)

ANS.

8)

ANS.

Q.4.

1)
2)
3)
4)
5)

6)

Q.5.

Ans.

b)

ARNS.

AnS.

d)

AnS.

Define climate -

Name the factors that influence weather & climate of a place.

Write true/false before each statement -

The day and nights in Greenland are of 24 hours long. (
The root of cassava is the stable food. (
Sea breezes moderate the heat over land surface. (
The crops raised by Greenlanders are wheat, rice and some pulses. (

The north - east winds blowing over the northern plains of India are dry.(
Congo have areas of copper, industrial diamonds, zinc, silver. (
One words answer -

Which is the fastest moving glacier of the world?

Which is the capital city of Greenland?

Which language the people of Congo - Zaire speak?

What form of communication is done through a post office?
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. SUBJECT - Maths

CLASS -5™

Q.1. Choose the correct answer -

1) The price of a chocolate is Rs. 12. What is the cost of 12 Chocolates?
a) 13+ 12 b) 12 x 13 c) 13-12 d) 13+ 12

2) Rajeev has 10 chocolates. He ate 2 of them. How many chocolates are left with him?
a)10+2 b) 10 x 2 c)10-2 d)10+2

3) Mansi has 20 toffees. She gave 5 toffees to her younger brother. How many toffees does Mansi
have?
a)20+5 b) 20 x 5 c)20-5 d)20+5

4) Anu got 10 toffees form her uncle and 5 toffees from her aunty. How many toffees does Anu
have?
a)10+5 b) 10 x 5 c)10-5 d)10+5

5) A pair of trousers requires 2 m of cloth. How many trousers can be made out of 10 m of cloth?
a) 10+ 2 b) 10 x 2 c)10-2 d)10+2

6) One truck can carry 25 bags of cement. How many trucks are needed to carry 500 bags of
cements?
a) 500 + 25 b) 500 x 25 c) 500 + 25 d) 500 - 25

7) Nikita has 25 books. Her mother gets her 2 more books. How many books does Nikita have
now?
a) 25+ 2 b) 25 x 2 c)25+2 d)25-2

Q.2. Find the sum -

a) 1,30,499 + 38,324 + 68



Q.3.

a)

Q.4.

a)

Q.5.

a)

Q.6.

Find the difference -
1,002,127 and 899

Multiply -
11627 x 185

Divide -
425662 + 34

A complete school uniform costs Rs. 520. If there are 675 children at school, what will be the
cost of uniform of all the children?



Q.7. Draw the following angles using protractor -
a) Aright angle ABC

b) An obtuse angle XYZ

c) An angle PQR 60°

d)  Anangle LMN of 135°

Q.8. Draw a line segment measuring -
a) 6.8 cm



b) 8.9 cm

Q.8. Draw a bar graph to covey following information. Number of students in a university who can
speak English?
BA B.COM B.SC M.COM MCA

200 400 350 500 600
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SUBJECT - Computer
CLASS -5™

Q.1.Answer the following questions
1) What are the two categories of computer language?

2) How the machine codes or binary codes are represented?

3) Where the sound files are store by default?

4) Where do deleted file goes?

Q.2. Fill in the blanks -

1) The machine codes are represented by and

2) In assembly language, operation codes are given in symbols called codes.

3) and the program that translates HLL into machine language.
4) Every file has to be saved by givingits _ name.

5) Folder is a locations for the files.



Q.3. Tick the correct answer

1) The language represented by binary digits.

a) Assembly language b) Machine language

c) HLL

2) The programming language used for solving mathematical problem.
a) BASIC b) COBOL c)CTT

3) The program used to translate HLL to machine language

a) Assembles b) Computer ¢) Mnemonic codes

4) A place where similar types of files are save together -

a) File b) Folder c) lcon

Q.4. Write full names for the following -

a) BSIC b) ALGOL
c) HLL d) COBOL
e) RPG

Q.5. Match the following -

a) Machine language 1) Mnemonic code
b) Assembly language 2)O’sand 1’s

c) High level language 3) C++, JAVA

d) Object oriented language 4) Symbolic language

Write short note for the following

1) Assembler

2) Compilers



3) Interpreter

4) Files

Q.7. Answers the following questions

1) What are the advantages and disadvantages of machine language (any two)

2) Write the steps to create a new file.

3) Differentiate between copying and moving.



